IB Math HL1 (Cumulative Review IB Questions)-No Calculator

Work as much as you can with your group members only and turn in at the end of period.   This is not homework.

Names: _____________________________________________________  Period: _____
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	[image: image1.png]a Find 3 (2r+27)

b=t

b Find an expression for 3 (2r  27)
=)






	2
	[image: image2.png]If log,2 = b and log,3 = c, express log, V72 in terms
of band c.
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	[image: image3.png]Find the cxact value of / " (cos%s + tan’ 2) d,
i
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	[image: image4.png]Factorise f(x) = 2% — 4 — 8z — 5 into real factors, and
henee determine the values of  for which f(z) > 0.
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	[image: image5.png]In wiangle PQR, sinPRQ = 22, QP = 3 cm, and

PR = 7 cm. Find the possible values of PQR, giving your
answer in degrees
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	[image: image6.png]Find the exact value of sin if 30520 + 2 =
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	[image: image7.png]Find the exact value of cos (arcsin 2 + arccos 2)
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	[image: image8.png]Consider the points X(3,2,1) and Y(i, 1- 34, 2u—1),
where s  constant
I 0 is the origin, find all values of p for which OX is

perpendicular to OY.
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	[image: image9.png]If the polynomial =" +aa?—6 lcaves a remainder of —3 when
divided by (x 1), and a remainder of —15 when divided by
(+3), find the values of o and n.
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	[image: image10.png]b
e
The graph of / has asymptotes = = -2 and y
passes through (2, 4).

 Find the values of a, b, and c.

b Statc the domain and range of /.

Consider the function [ : &+ a +

€ Find /~* and state the domain and range of £~
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	[image: image11.png]Find k if / VI =7 do = 38
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	[image: image12.png]a Prove that sin(A + B) + sin(A ~ B) = 2sin Acos B.
b Hence, or otherwise, find the exact value of the period of
the function f(z) = sin 5z cos 2.

¢ Find [sin5zcos2c da.
d Hence find the exact value of [ sin 52 cos 2z dz.



[image: image13.png]a Prove that sin(A + B) + sin(A ~ B) = 2sin Acos B.
b Hence, or otherwise, find the exact value of the period of
the function f(z) = sin 5z cos 2.

¢ Find [sin5zcos2c da.
d Hence find the exact value of [ sin 52 cos 2z dz.





	
	

	
	

	
	


